vt e GV T ()] gy [P GeV

300 < M(tt) < 450 GeV
0.0-0.2 1255+ 1.1 £6.9 1.0-1.2 733+ 0.8 44
0.2-04 121.8 £ 09 6.5 1.2-14 552+ 0.7 +£34
0.4-0.6 1163+ 1.0 =6.3 1.4-1.6 345+ 0.6 +£23
0.6-0.8 109.0 = 09 £ 6.6 1.6-24 6.05+ 0.15 +0.64
0.8-1.0 9324+ 09 £53 —

450 < M(tt) < 625GeV
0.0-0.2 1448 + 1.1 £8.2 1.0-1.2 625+ 0.7 +45
0.2-04 1378 £ 1.0 = 7.8 1.2-14 415+ 06 +£3.1
0.4-0.6 12514+ 09 +£74 1.4-1.6 226+ 05 +£21
0.6-0.8 1074 £+ 09 + 6.8 1.6-2.4 3.03 + 0.10 £0.38
0.8-1.0 86.6 = 0.8 £5.5 —

625 < M(tt) < 850 GeV
0.0-0.2 648 + 0.7 £3.7 1.0-1.2 198+ 04 +1.5
0.2-04 59.8 + 0.6 £34 1.2-14 112+ 03 1.2
0.4-0.6 514+ 0.6 £3.6 1.4-1.6 541 + 0.22 +048
0.6-0.8 41.6 £ 0.5 £3.1 1.6-2.4 0.686 = 0.044 + 0.076
0.8-1.0 314+ 05 +£2.1 —

850 < M(tt) < 2000 GeV
0.0-0.2 6.81 =0.11 £ 0.44 0.8-1.0 235+ 0.07 £0.18
0204 6.39 £ 0.11 + 046 1.0-1.2 1.44 + 0.06 £+ 0.12
0.4-0.6 5.22 +0.10 £ 0.36 1.2-14 0.703 4= 0.041 £ 0.090
0.6-0.8 3.80 &= 0.09 £+ 0.29 1424 0.062 = 0.006 £+ 0.011



